MODELS

STANDARD NSULATED

LS TANDARD, ]
645, Gof, GaL, GL4, GD4S, GD4L, (R4S, GR4L

E45V, E4LY, E

G45Y, GS4V, G4Lv, GLAV, GDASV, GDALV, GRASY, GRALV
Y, ED4LV, MRASY, MRV :

CLOPAY 3 ) -
IDEAL E45, E4L, ED4S, ED4L, MRAS, MR4L
554, SL&, ARAS, ARAL

BE4V, SLAV, ARASV, ARALV

INTERMEDIATE STILES ATFACHED W/ T0G-LwlOC {TOF
& BOY) AND URETHANE ADKESIVE (ALONG CENTER}

LONG PANEL OPTION

SEE SHLE TASLES.

SHORT PANEL OPTION

= AL

DESCRIPTION

REVISED WIND SPEED TABLE FOR ASCE7-10.

REVISED FOR TOI

REV DATE
04 | 01/31/12
05 | os/17/12
06 | 06/05/13

REMOVED GLAZING OPTION.

HORIZONTAL. TRACK SUPPORT BY
BOOR INSTALLER (TO SUIT)

NOTE; TRACK CONFIGURATION ABOVE THE
DODR GPENING DOES NOT AFFES

CY THE

WIND tOAD RATING OF THIS DOOR.
IRACK. CONFIGURATION

: 1 | T
l i [ BOOR |
' HEIGHT "L
g | k i wiEw " =6 | 70"
g o i e
Y : : 76 180"
+ F s a~-0" | 88
é ‘ * E i S ET [~ VigW "
3 ! .
8{: | 1 C { I l 1 i ] S—aan?q ‘GA. GALV. STEEL
& I 1 {IN_24° SECTIONS,
& _iw__=____5@ PER B4 SECTION.
o o
o v I A\ v LECK #OSITION (ROTH £
g f L~ SIGES: Twil PGINT s
¥ E i %] LUCKING W
g R ERS— } | i ] &
a ; 1 ONE 4° TALL 16GA. &
W C~CHANNEL PER SECTION =
vy E ; T Ay v It —
7 C~CHANNEL STRAPS "
; ] " PER SECTION % L
ﬂw +WIIII E A AT R E —3
i
e <&
| Z
- i A OFTIONAL. OUTSIDE KEVED LOCK POSMION A
HAX, DOOR WDTH w 1807 %
‘Hesine FEVATIONS
% OF H.
DGR HEIGHT M
— — SECTIENS ]
EOR_MODELS GAL, GDL vOD4LY, EAL 4 ALV DOGR AVAILABLE IN SHORT OR LON THIS ROOR MEETS OR EXCEEDS THE DESIGN I
£D4LV, MR4L. MR4LV, GL4. GR4[, GL4V, GR4LV, SL4 S LONG 60 3 H
AR4L. SLAV, AR4LY ONLY (LONG EMBOSS DOORS): EMBOSS. DOOR MAY CONSIST OF A k?;’é%%o?ﬁ? }fg"-n,‘:‘é”ag,;%?%hgém&géw‘" ..... A
AOBTONAL 16 Sh COMMERCH, INTERM. STAES REGMIRED. SEE 'STLE TABLE MIXTURE OF LONG AND SHOKT PANELY  I'oR‘lac (ASCE7) FOR THE FOLLOWING &3 10 8¢ 4
FOR LONG EMBOSS DOOAS' - CONDITIONS: 1) , 2) DQOR 873 10 10°0° 5
gAstg oF wsm‘f; INO%UI(LJEINGS i:-rea m%‘?NE' e 10 12 c
STILE TABLE FOR LONG EMBOSS DOCRS STILE TABLE FOR SHORT EMBOSS DOORS- R%}(iF gﬁgégc EV\NB\CI} 50% S%FQ?Y) FACTOR. 123" 0 1407 7
CF OF STO. # OF COMM: OF OF StDJ ; v e
DOOR G i SO0 fides | Eoens _MWM—LEL’:%S%'EEE[{&?H) BS‘ZOC ”g 120 1;“ g T 166 8
WIDTH STHES STLES WIBTH . STLES 2L A : - MAY SECTION HEIGHT
167" 10 180 3 3 4 162 10 8.9, 3 7 MEAN ROOQF HEIGHT) 30 30 25 30 . 247 -

HNQTE: THE DESIGN OF THE
SUPPORTING STRUCTURAL. ZLEMENTS

SHALL BE THE RESPONSIBILITY OF THE

PROFESSIONAL OF RECORD FOR THE
BUILDING OR STRUCTURE AND IN
ACCORDANCE WITH CURRENT BUILDING
CODES FOR TRE LOADS USTED ON
THIS DRAWING.

IN THE CASE OF GYPSUM WALLSOARD LOCATED AT OR NEAR THE DOOR OQPENING
LOCATION 7HERE ARE TWO ACCEPTABLE ALTERNATIVES: ‘
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN
YELLOW PINE WOOD JAMBS MOUNYED DIRECILY TG THE SUPPORTING STRUCIURE TO
CREATE, THE MOUNTING SURFACE, ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED
DIRECTLY 1O THE SUPPORTING STRUGTURE. SEE DETAIL BELOW. THE CENTER OF
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW.
2}IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLVING STRUCTURE {wocb
FRAMING MEMBERS), A 2X%6 SOUTHERN YELLOW PINE WOOD BUCK OVER SHALL BE
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT
FASTENERS LISTED BELOW. HOWEVER, THE JAME ATFACHMENT FASTENERS MUST 8E OF
A SUFFICIENT INCREASED LENGTH TG ACCOUNT FOR THE THICKNESS OF THE
WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL

2x6 YELLOW PINE JAMB—

WITH ONE 5/167x1-5/8" LAG SCREW

2" GALV. STEEL TRACK FASTENED TQ
12_GA,

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILBING CQOE
OR INTERNATIONAL BUILDING CODE BUT DOES MOT MEET TH
IMPACT RESISTANT AEQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (REF. CHAPTER16 FEC/IEC)

STOP MOULDING BY DOOR INSTALLER (FO SUIT)
16 GA. MIN. GALV. STEEL END SHLE

GALV. STEEL INTERMEDIATE STILE

4

12 GA GALV. STEEL TRACK
BRACKETS FASTENED TO WOOD JAMB

PER TRACK BRACKET.

GALY., STEEL TRACK BRACKETS.

9/16” 1D. ROUND PUSHNUT T~
FASTENER (ONE PER ROLLER).

14 GA. GALY. STEEL ROLLER HENGE
FASTENED TO END STHES EACH W/i4)

1/4°k3/4" SELF
TAFPING SCREWS.

18 GA. GALV. STEEL

INTER, HINGE

METAL SCREWS.

FASTENED TO INTER.

13 GA. GALV, STEEL FLAG BRACKET.
EACH FASTENED TG WOOD JAMB WITH
(3) 5/16"x1-5/8" WOOD LAG SCREW.

2" GALV, STEEL TRACK,
TRACK THICKNESS: 060"

B 1vp. 2-1/2"x12 GA. GALV.

STEEL TRACK BRACKET.
(4) TRACK BRACKETS PER SIDE.

LHA TOP BRACKET ATTACHED WiTH (2}
1/4"°x3/4" SELF TAPPING SCREWS

LHR TGP BRACKET
DOUBLE HORIZONTAL
TRACK

HORIZONTAL TRACK SUPPORT BY

Al PN

DOOR INSTALLER (TO suw)\H

13 GA. GALV. STEEL FLAG BRACKET.

24 GA. MIN. STEEL
GALVANIZED SKIN WITH

EACH FASTENED TO WQOD JAMB WITH
{3) 5/16"x1-5/8" (AG SCREWS.
NOTE: 3" TRACK AVARABLE
A% NEEDED.
307
MAX
.
& L1, 2" GALV. STEEL TRACK,
] T / TRACK THICKNESS: 060" MIN.
T
& par TYP. 2-1/2"%12 GA. GALV. STEEL TRACK BRACKET.
o TYe) 53 TRACK BRACKETS PER SIDE Ew 0 10 HIGH}.
= &) TRACK BRACKETS PER SIDE (UP TO 12' HIGH).
1 4 ] DISTANCE BETWEEN FLAG AND TOP TRACK BRACKET
o NOT TO EXCEED 3¢" O.C.
x
a 24+
] DRIR | 4«
T <TYP) HEIGHT] U
2 . oo
& e [ [#e o7 | 1067
Q 10°9" BEY
10°6" | 118”7
: g7 [ Taar
e 0] W o
12707 1 136" | CONFIGURATION SHALL
12'6* 42" CEED MAXIMUM
SECHON A~p (SIDE VIEW) 0| aagr.| STohe PRovbeD.
' w 13%6" | 154" | WMORE DETAL IF RQD.
— 2" THICK 140 | 160°
12 GA. GALV. STEEL TOP | 46 1667
ROLLER BRAGKET. EACH 507 | 1750
" BRACKET ATTACKED W/(4) [G&fe’ i (78’
N #14x5/8" SHEET METAL MY

A BAKED--ON PRIMER,
AND A BAKED—ON POLYESTER
TOP COAT APPLIED TG BOTH

SIGES OF STEEL SKIN.

SHIP LAP JOINTS.

1# DENSITY POLYSTYRENE FOAM
NSULATION 1~5/16" THICK WITH
VINYL. HAIRCELL BACKER
{INSULATED MODELS ONLY)

FRAMING MEMBERS OF THE SUPPORTING STRUGTURE. TRACK ATTACHED TO EACH BRACKEY €14x5/8: SHEET METAL SCREWS AND
WITH ONE 1/4°x5/8" BOLT & NUT 5) 1/4"%3/4" SELF TAPPING SCREWS PER END HINGE.
= [ e enE 0R TWO 1/4" DIA RIVETS, it
§ 2" DIA. SHORT STEM, 10 BALL SYEEL P TM&\?”@&
NQTE: THE DESIGN OF THE \ 16 GA .
SUPPORTING STRUGTURAL ELEMENTS ROLLER WITH SYEEL OR NYLON TIRE. e
: ) ?ﬂE Pa%%ﬁeos.agfpgﬁ s»%ﬂow GHE snaP LaTeH O 3" 20 GA. GALY
] 5 0 EACH SIDE OF DOOR. " .
FOR THE BUILDING OR STRUCTURE O R . Toiaet B oo INTER. STILE STEEL U-BAR
AND [N ACCORDANCE WITH ER N
CURRENT BUILOING CODES FOR THE SmE £KD SLOE BOLT _|j 3 |—
LOADS USTED ON TEES DRAWING. . QUTSIDE KEYED STE LOCK £NGAGES -
100K WE; HANDLE N INTO VERTICAL 1-7/8 Lf==|
PREPARATION QF JAMBS. BY OTHERS, TRACK ON SNLE TRACK. ONE "T”
i Pk ‘ EACH Sibe
VERTIGAL, JAMB_ATTACHMENT (WOOD FRAME BULDINGS): INSIDE HANDLE OF BOOR.
378" LAG SCREWS ON 15" CENTERS. 1—1/8" 0.D. WASHER REQUIRED. LAG SCREWS
MAY 8E COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFAGE. AIS0E S Locs LUISIDE KEYED LOCK INSIDE_SLIDE BOLT
HORIZONTAL JAMBS 0O NOT TRANSFER LOAD. SAp. LATCH LOCK OFTON LQCK _OPHON

VERTICAL JAME ATTACHMEN —00 BLOCK OR A
3/8"xY" SLEEVE ANCHOR SOLTS ON 22" CENTERS (2,060
WGSHERS INCLUDED WitH SLEEVE ANCHORS.

R
1/€"5" TAPCON SCREWS ON 14" CENTERS (2,000 PSt MIN. CONGRETE) OR 17"
CENTERS (C~80 BLOCK), 1" 0.0, WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK (BUT NGT REQUIRED) TO PROVIDE A FLUSH MOUNTING

SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

LAIMN
ETE}.

iy QNG RETT
PS! MIN. CONCR

OTHER JAMB CONFGURATIONS: REFER TG DASMA TOS-161. A LICENSED DESIGN
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR
GAMB  CONFIGURATIONS.

FLORIDA P.E. #484—95,
NC P.E. #23832,
TEXAS P.E. $#91513

DESIGN ENGINEER: MARK WESTERFIELD, P.E.

Company

Builing Products

CLOPAY BUILDING PROGUCTS COMPANY

8585 DUKE BLYD.
MASON, OH 45040

{513} 770-4800

MANUFACTURING PRODUCT CODE
SHORT PANEL: PAN—ZF443
LGNG PANEL: PAN-2F446

~ SCREWS.

SEE VIEW "D"

END HINGE. EACH 14 GA. GALY. STEEL

TAPPING SCREWS.

3" 20 GA, GALY. STEEL U-BAR R
247 SECTIONS

ONE 1747 X 3/4" SELF TAPPING SCREW

Y CCHANNEL),

13 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS,

ALUMINUM EXTRUSION
& VINYL WEATHERSTR®.

DESIGN LOADS:
TEST LOADS:

ONE 4" TALL 16 GAGE C—CHANNEL PER

FASTENED TO END STILES W/(4) #14x5/8"
(4) 1/4"x3/4" SELF SHEET METAL SCREWS

{INE PER 24° SECTICN,
@y 174" X 374" SELF TAPPING SCREWS PER STILE.

DOGR SECTION.

&

N
ATTACHED WITH

PER STILE.

FACH STRAP ATTACHED WITH (3) 1/4" X3/4" SELF
TAPPING SCREWS (TWO SCREWS TO DOOR, ONE SCREW TO

+25.0 PSF & ~20.0 PSF.
+37.5 PSF & —37.5 PSF.

WINDLEIAD RATING MAX, BOOR SIZE:

18'0"W x 16'C"H

The grrangeme
of the Clopay

Clapay Corperation All Rights Reserved.

nts depicted herein are the sole property
Cerporation and may not be reproduced
in any form without it's written permission.

DATE:

8/26/05

DESCRIPTION
G4S, G4SV, GAL, G4LV; 18'W +25/-25 PSF

DRAWN BYi

BFA

B

DRAWING NUMBER:
103498






